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H & 0l & AFSE E Al A
20228 = =0llah LBt H SXIE 0
2AM: SXNEHL
M AMI=X2E 2l
Sl AEEE 2% EERE
- _ - &
SN B CR(BH) - MRAY - BES 0l et S HRE2
SXE 46,464,352 43,987,363 2,476,989
= 29,194,129
s 298,085
| 296,279
< 3,495,311
i 13,180,548
MBIZ2X2E 2l 972,951 806,075 166,876
= 170,668
& 213,003
i 589,280
AMSIEE 29 854,451 680, 145 174,306
= 170,668
& 198,503
s 485,280
MIISXAIE 2L (MISXAIE SALL SXI=Y) 387,600 593,635 A 206,035
& 77,520
s 310,080
307 SI2toI & 387,600 593,635 A206,035
= 77,520
i 310,080
11 MSI=SXAMEE = 387,600 593,635 A206,035
OL=XAE BAR SN+
154,900 x200E x12& 371,760
& 74,352
o 297,408
OASIEXAE SAR SX=E(AHE)
120,000 x6E 1201 & 8,640
& 1,728
s 6,912
OMIISXDII2 SALAL MRMSHI(EZI2 2
I ) 150,000 x4 H x12& 7,200
& 1,440
s 5,760
MSISXIAIE SALA 62 o2l XI& 2,315 1,760 555
< 1,158
s 1,157
307 QI2+0I A 2,315 1,760 555
& 1,158
s 1,157
06 23 2,315 1,760 555
QA= XAIE SAHA &oi2& Ot I
5,000 x463H 2,315
< 1,158
i 1,157
MEI=EXAMEIA g & 22 900 900 0
202 04l 900 900 0
01 = LHGYI 900 900 0
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S H:
7(‘| il—l:
C|—O| :

EI' X XH ﬂl.

NEEEE:
Mel2E 2

T o To

2el

o - PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
| OAt2I =X MblAw=s 2 2 100,000 *92 900
KNA=SXALS Dl ZA(XNSMIIEHE M 22X 68,660 62,660 6,000
)
< 6,160
= 62,500
201 2823yl 8,660 8,660 0
01 At 22l 8,660 8,660 0
OXGASIEHAE (AXE UM X Bl
70,0003 %1921 +23] 2,660
OS8XA2HE AN 243 XA
1,000,000 *69H 2 6,000
307 212t01 A 60,000 54,000 6,000
< 6,160
= 53,840
10 MSXNALHE2EHIEX 60,000 54,000 6,000
OXgAI2ZE oM 43t K&
15,000,000& * 174 A %42 | 60,000
< 6,160
= 53,840
SIY=XAE 2 4,900 4,900 0
201 Zet=dhl 2,000 2,000 0
01 AtR2telH 2,000 2,000 0
O3IL=SXNA2ANY T2 2
200,000 *10JH & 2,000
202 044 900 900 0
01 =W oddl 900 900 0
O3RN AAY SR =N
90,0002 1000 & = 1¢! 900
203 H 22| 2,000 2,000 0
03 Al =TT 2,000 2,000 0
OMFA ABPRFD 2,000,000& * 14 2,000
SgxAgR =N 10,240 10,240 0
201 Zet=dhl 7,540 7,540 0
02 3323 7,540 7,540 0
Oxtg |2l 1,000,000& 4271 4,000
OAIES Y -2 BNREE 3
120,000 x 1204 & 1,440
oolsdat=s 35,0002 +5CH 1204 = 2,100
202 044 2,700 2,700 0
01 =W OHI 2,700 2,700 0
OSETAA SXNEY dg A TA
270,000 10 2,700
SADI(RE)ES 22| 16,500 6,050 10,450
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SA

X ZH -
o =

=X= 20
MBl=R2Y B
oA MB2E 2Y

SA SR (S) - MRAY - BAS il &t e RS2
301 YPYBNZ 16,500 6,050 10,450
01 A2 EEE 062 16,500 6,050 10,450
O AL I 1,500,000%93] 13,500
OR el 25| 100,000& *30¢2! 3,000
MI571(2023~2026) KIS ALSI B & H & 8 (89) 22,000 0 22,000
207 & 20 Y| 22,000 0 22,000
01 A7 E | 22,000 0 22,000
ORMI571(2023~2026) KIS AtSI E&E A& (Y
) 2,000,000 14 22,000
MEXIAY KJAAS 341,336 0 341,336
= 170,668
& 113,665
o 57,003
301 YPYBNZ 341,336 0 341,336
= 170,668
L= 113,665
i 57,003
01 A2 EE 23613 341,336 0 341,336
OZ=Z2ULH19 MEX&dl X&
341,336& *1,0000t = 341,336
= 170,668
& 113,665
o 57,003
NSAS SXHAH 2= 118,500 125,930 AT,430
& 14,500
o 104,000
MEI=XEAE 28 & ME=EXAE 25 K 72,500 101,930 A29,430
& 14,500
o 58,000
307 SI2toI & 72,500 91,600 219,100
& 14,500
i 58,000
10 AL SEXAIEHE2FHIEX 72,500 69,600 2,900
OA3I=XE2s 2 6,041,666 123 72,500
& 14,500
o 58,000
==Xtz 2% 12,000 12,000 0
307 QI2+0I A 12,000 12,000 0
11T AL SXAIE E = 12,000 12,000 0
O0ls =X 2EXJ 1,200,000 «10H & 12,000
OlsNEXE 24 X 12,000 12,000 0
307 SI2toI & 12,000 12,000 0
11 MSI=SXAMEE = 12,000 12,000 0
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SA

L

Zu: NB=X2Y 22
ol XA ZRHA 25 EERE
- _ - &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
| O0ls MEXE 2ZX& 1,200,000& 1042 12,000
AEl=TIEols T2OUSY U MEI=XIHE HE 22,000 0 22,000
307 212+0] 22,000 0 22,000
11 ALSI= TIAR 2 7 22,000 0 22,000
ONBI=XEOS TRIBSY W A=
3| JhE 11,000, 000& *1JH A #23] 22,000
otssA & 3,000 8,000 25,000
< 600
2 2,400
EFA4 O0ts XI& 3,000 8,000 25,000
< 600
2 2,400
ChEOHE E8 R 3,000 8,000 25,000
< 600
2 2,400
301 YBHBH B 3,000 8,000 5,000
= 600
= 2,400
01 ASI BB X252 3,000 8,000 25,000
ons s=3 1,000, 0002 +3% 3,000
< 600
2 2,400
28 4 1,523,026 1,237,494 285,532
< 139,860
2 1,383, 166
20t 22 B2l 2 N 1,491,286 1,205,754 285,532
= 139,860
= 1,351,426
2IRIBT L BEOH B 1,325,926 909,994 415,932
201 LBr2 | 900 900 0
01 A2 2| 90 900 0
OLUctAtE NS 2AMZ 200, 0003 1 23] 400
OuctAtE = Xt= QI 10,000 & *50= 500
301 YBHBH B 1,116,000 712,000 404,000
01 ASI BB X252 1,116,000 712,000 404,000
ORNRBR +Y N2 1,116,000
OE=gdi=g 150,000& x260H * 1201 & 468,000
OF&EFU=Y 150,000 x260L * 1201 & 468,000
OBFRTN L 2UREHATAMYARS
400,000 +30% 12,000
OHHSTX WS =X=Y
100, 0002 140241204 & 168,000
307 glztol A 200,026 186,294 13,732
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SA

=

—/ [=}
M H& He

s }

=

cHe|: 2tz 2 X (&2 M
- - - bSIE|
A4 (3H) - HEMY - BHAS Ofl AFoH Om'&o% Hunsz2
02 QI2HHAAI B X 19,850 15,350 4,500
OEESH AlYHl XK (SEHSAM)
3,350,000 *1JH S+ Xl 3,350
O=IIRI2X M=K HS X
1,500, 0002 *8JH St &| 12,000
OB&CtH XS XIH 1,500, 0002 *37H St &| 4,500
03 QI HEE2IHIB X 180,176 170,944 9,232
OBECH 29H| X (8MHEHH)
4,810,000 «8JH & X 38,480
OBECHAl oAy X2 (8MEH)
17,712,000 *8JH SH&| 141,696
401 Al HI L2 HY 6,000 6,000 0
01 Al&HI 6,000 6,000 0
BE3 AEES 6,000,000 *1J A 6,000
402 QI+ XH=0| & 3,000 4,800 A1,800
01 QIZEXIE AL S E (XHHIKHS) 3,000 4,800 A1,800
OBECH &EIIPY X
1,000,000 *30H C+ Xl 3,000
BEOH XY L EEAY FI(SERI2A L = 5,000 6,000 A1,000
o|2H| Xg)
[= 1,000
= 4,000
307 @I2+0| A 5,000 6,000 A1,000
[= 1,000
= 4,000
01 9222yl 5,000 6,000 A1,000
OSERBX ¥ 8= 22H XL
1,000,000 x5 5,000
[= 1,000
= 4,000
SECH Y 2 BEAY ZX(SERZ L X 2 3,000 3,000 0
2l X))
[= 1,500
= 1,500
301 LUBEAZ 3,000 3,000 0
[= 1,500
= 1,500
01 M EEEAF 2 3,000 3,000 0
O=SBR2A @A CHHE AX| X
1,000,000 *37| 3,000
[= 1,500
= 1,500
BEOH XY 2 BEAAZTI(LACEFH S 117,360 286,760 A 169,400
Xg)
[= 117,360
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SA

=

—/ [=}
M H& He

s }

=

chel: el & X3 (el &3
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
301 YPYBNZ 117,360 86,760 30,600
& 117,360
01 A2 EEE 062 117,360 86,760 30,600
OZRAE FHHU=Z 30,0003 =128 x240H 86,400
& 86,400
OZAT BE8Hu+E 30,0002 =122 «86H 30,960
L= 30,960
EE2HA JIsEZ K& 40,000 0 40,000
& 20,000
o 20,000
402 QI+ X201 40,000 0 40,000
& 20,000
o 20,000
02 QI XH2ALS E X (OIE ) 40,000 0 40,000
OEECH JIsE2d XH
40,000,000 *1JH &AMl 40,000
L= 20,000
o 20,000
2INEY A 2 31,740 31,740 0
312 A 2F 14,600 14,600 0
201 LBr2Fd| 10,000 10,000 0
03 SEAI2ZEH| 10,000 10,000 0
©3.12 AtHI 6,500,000& *1JH 2 6,500
©3.12 2N M=+ 3,500,000 *1JH 2 3,500
301 YPYBNZ 4,600 4,600 0
09 HALAHIXIAZ 4,600 4,600 0
03.12 |5 24 8,000& »200H 1,600
O©3.1& &AL EAHX B432 500,000 *6IH A 3,000
=Y At 2Y 12,040 12,040 0
201 et Fy| 3,000 3,000 0
03 EAH2ZH| 3,000 3,000 0
O =2 #MA| 3,000,000& 13l 3,000
301 UBE TS 4,040 4,040 0
09 HALAHIXIAZ 4,040 4,040 0
O A =4 8,000& »380H 3,040
OS=Y AL SEHI EAS3 250,000 44 2 1,000
401 Al HI L2 0HHI 5,000 5,000 0
01 A&l 5,000 5,000 0
OEEANE RXNE= 2,500,000& *2J4 A 5,000
6.25 J|E&A 22 5,100 5,100 0
201 et Fy| 3,500 3,500 0
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SN =X
HH: 25 4
Sl BODIEY A 2 EERE
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
03 A2 ZH| 3,500 3,500 0
O6.258H DG &AL 3,500,000& * 14 2 3,500
301 LB F 1,600 1,600 0
09 HALAIHIXIAZ 1,600 1,600 0
©6.25F M J|geiAt EATHIIIRSAH)SA
8,000& 200X 1,600
MASE MEtE XA 648,012 691,817 243,805
= 215,780
s 225,085
L= 19,744
= 187,403
HASE NHEXJAY 570,612 614,417 A43,805
= 173,000
s 225,085
& 19,744
o 152,783
22 SXNXE AL 216,250 242,667 AN26,417
= 173,000
& 8,650
o 34,600
301 YPYBNZ 216,250 242,667 AN26,417
= 173,000
L= 8,650
o 34,600
01 A2 EE 3613 216,250 242,667 AN26,417
022 sXNAE At 2,162,5002 *100Jt = 216,250
= 173,000
& 8,650
o 34,600
NATEE AMIIMEIA EXAIS (KIS ALE MBI A S X 277,256 298,750 A21,494
AN XIE, 298 XI)
s 221,800
L= 10,930
i 44,526
201 et gy| 3,500 4,500 A 1,000
s 2,800
o 700
01 At 22|l 3,500 4,500 A 1,000
OXN DA MHIAETAIY 2F 2|
291,600 x 1204 & 3,500
s 2,800
i 700
202 o44| 500 500 0
s 400
i 100
01 = LHGYI 500 500 0
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SA

Nu: HASE MBI KBAY
SR MASE NEXHAE (el &
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
OXNFAS MHIAEXAIY HR=E O]
50,0009 * 1%+ 1074 2 500
2 400
= 100
307 212+l 273,256 293,750 220,494
s 218,600
S 10,930
= 43,726
05 22t E= 273,256 293,750 A20,494
OXIFAS MHI A FE XFAMY 68,314,000 ~42] 273,256
[ 218,600
& 10,930
i 43,726
NASE 2228 UY 73,000 73,000 0
301 Let2d3 73,000 73,000 0
01 Al Ed XM +dl= 73,000 73,000 0
OMASFE AYRHE U
6,083,333 «12& 73,000
NAXES ASIMHIA SXAI(FE0ISHY XI]) 4,106 0 4,106
2 3,285
& 164
= 657
307 eI+l 4,106 0 4,106
= 3,285
= 164
= 657
05 22t E= 4,106 0 4,106
OFENSAZI XN AtHEl 342,166 1200 & 4,106
[ 3,285
= 164
= 657
SITIAt 220 XT3 A 77,400 77,400 0
2 42,780
i 34,620
Az Satel2el X 15,000 15,000 0
= 7,500
i 7,500
201 £et2E| 6,500 6,500 0
= 3,250
i 3,250
01 At 22l 6,500 6,500 0
OAtdI2tel 29| 448,333& 128 5,380
= 2,690
i 2,690
O==2dNZ2Ad 2o+ 70,000 8 *23 1,120
= 560
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SN 2N

B HASS MBOF NAY

SR ROIAI 22O RT3 ALY (el &
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
o 560
202 044 1,000 1,000 0
= 500
= 500
01 =Woddl 1,000 1,000 0
OSE At Z2IAt BE Kbl
200,000 12153 1,000
= 500
= 500
301 2et2d3 7,500 7,500 0
= 3,750
= 3,750
01 Al Ed XM +dl= 7,500 7,500 0
OAtdI2telAtY 2SI 1,875,000& *43] 7,500
= 3,750
= 3,750
SHS ¥=g SEAMHA XA 50,400 50,400 0
= 35,280
= 15,120
201 £et2E| 15,422 24,150 N\8B,728
= 10,795
= 4,627
01 At 22l 15,422 24,150 A8,728
OAtdi2tel 2 X (324, WEEEH S
) 2,570,333@+61 S 15,422
= 10,795
= 4,627
202 044 1,050 1,080 0
= 735
= 315
01 =W oLl 1,050 1,080 0
OSEAtdIZelAL IS O]
150,000& *11%73] 1,050
2 735
= 315
301 LBtENS 33,928 25,200 8,728
= 23,750
= 10,178
01 Al Ed XM +dl= 33,928 25,200 8,728
OArfZ2/AY XI2HI(S/2H] 422l S)
5,654,666 *6 i = 2 33,928
= 23,750
= 10,178
FIT1A 22l ot K& 8,000 8,000 0
401 Al HIZL 20l 8,000 0 8,000
01 Al H| 8,000 0 8,000
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SA

B JASE MHOH XA
Shol: SIDIAtIBEINR XIR ALY (ol H e
= = &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
oFolzel nadte sdha
2,000, 000& *4 2t = 8,000
HOPIs SNAYL 29 4,000 4,000 0
201 LBr2 | 4,000 4,000 0
01 A2zl 4,000 4,000 0
OB (ABHZ0) MX S
4,000,000& 14! 4,000
LolgX & 35,256,610 32,573,375 2,683,235
2 22,921,011
gl 296,279
< 2,478,434
2 9,560,886
L MESZE 28,370,396 26,793,269 1,577,127
= 22,783,632
p] 296,279
= 961,121
= 4,329,364
CoST AR Y 20,810 8,810 2,000
201 LBr2 | 5,500 5,500 0
03 #AF2 bl 5,500 5,500 0
OLA=NHA B2 U SETY
100,000& 253 2,500
OLOI=SA HIIX SH=STY
50,0002 +60% 3,000
202 01t 90 900 0
01 24018 90 900 0
OLI=XI#HAL =& 100, 000& *93| 900
301 LEIENZ 1,710 1,710 0
00 BAIAIHIXI 213 1,710 1,710 0
OOHI0IL JIESA U & A &}
85,5002 *20% 1,710
307 2I2+0I A 12,700 10,700 2,000
11 A2 S XA 12,700 10,700 2,000
Oustcolsl At XI& 12,700
O ololg SA 2 AR 02 AB0IY
& 61,6662 <60 9,700
Oz ARYTR MY RN 2D}
20,000& x50 1,000
O HolE=U3a &It 100,000& x20H 2,000
oo 2 #ARY 10,000 5,000 5,000
307 212+0] 10,000 5,000 5,000
04 DIZHHAFALRI 2 & 10,000 5,000 5,000
ool g A 10,000,000%4 +13! 10,000
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SA

X ZH -
o=

J

o
o
=y

&

I 1 o

o .

o i 0%
=

il
HT Ol
alpal
[
40
E
10

EEE

0

SA SR (S) - MRAY - BAS il &t e RS2

S|
ol
e
oy
>

= 22,076,164 21,258,930 817,234
19,868,548

441,523
1,766,093

M H

301 LEHEN S 22,076,164 21,258,930 817,234
19,868,548

441,523
1,766,093

H A

01 Al 2 X512 22,076,164 21,258,930 817,234
= A& 1,839,680,333& x 128 22,076,164

19,868,548
441,523
1,766,093

HH

ol E3s0 K& 11,040 5,785 5,255
768
10,272

M1

301 LEIENZ 11,040 5,785 5,255

768
10,272

M H1

01 A2 2EH =53 11,040 5,785 5,255
O4AITH Ol&t JtE s=+E X&
100,000 6t 7+ 128 7,200

o&=+==g X& 20,0003 ~16&«12& 3,840
768
3,072

M

Lol LdXelAS 4,459,145 3,907,756 551,389
2,229,573

421,660
1,807,912

H

307 212t0l A 4,459,145 3,907,756 551,389
2,229,573

421,660
1,807,912

M H

M AIZIS XA E
ozl iiel & AMAESKNEAE SUES
,000& *1,253& 3,946,950

1,973,475
394,695
1,578,780

A

4,459,145 3,907,756 551,389

H A

Oolditel X AtSIESXIEAY ALSIAHIA

S 7,931,000 *34H 269,654
134,827
26,965
107,862

M H

oxelgiiel & AE2SKEAE =812 &

gl (MM ZE) 26,949,000% »9H 242,541
121,271
121,270

A
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2AM: 2XH Y
HH: Lolsx s
e 5 ME8E (che &S
- PSLE]
SA-EY.SA(HH) - MEAY - BAS Ol At e HIBS2
NAS THIHEQl AAMBHE 60,228 0 60,228
307 212t0l & 60,228 0 60,228
11T AL EXAIE E = 60,228 0 60,228
OMAS MItQl AAHHEY 926,580& x652! 60,228
JEZANERIZ A 43,750 0 43,750
307 212t01 & 43,750 0 43,750
11 ASIEXAIE E X 43,750 0 43,750
OYAZLO=X 2 T2AY RS2 4
36,750,000 * 14! 36,750
OXFNHEBA HZAY 2234
7,000,000 x 14 7,000
(F S )I00MAITH (24 LXtel 2,400 2,400 0
o= 1,200
= 1,200
307 Q12t01 & 2,400 2,400 0
o= 1,200
- 1,200
11T AL EXAIEE X 2,400 2,400 0
O(FILE)I00MAICH HEA LTI AFS (HIE &
g=H ¥ 2gXE2) 200,000 x12& 2,400
o= 1,200
= 1,200
Lololalsd & 225 8 10,000 0 10,000
307 212t01 & 10,000 0 10,000
11 A S XAIE 2 10,000 0 10,000
OaHu=x XA 10,000, 0002 =101 2 10,000
SHLSSEL SSIAFAMMEIA S IR 89,518 59,968 29,550
J| 44,759
o= 8,952
= 35,807
307 212t01 & 89,518 59,968 29,550
J| 44,759
< 8,952
= 35,807
1A EXAIEE X 89,518 59,968 29,550
OSHESSEM SSUHE M MHHIA
89,518,000 * 14! 89,518
J| 44,759
o= 8,952
= 35,807
SSUHECIA HHIA 22X HRME =S 3,600 1,800 1,800
o= 720
= 2,880
307 Q12t01 & 3,600 1,800 1,800
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2AM: SXNEHL
¥ Lo=x EA
cell LE MERX CEREE
% = &
SN - SASH) - HRAE - S HlE2
3 720
o 2,880
11T AL SXAIE E = 3,600 1,800 1,800
STOHOIAMYIA 22X HRMA 45
150,000 x2H x12& 3,600
L= 720
= 2,880
100 MIAICH 2481 LXeIAE (SHI12) 503,040 514,262 A11,222
| 251,520
o 251,520
307 QI2+0I A 503,040 514,262 A11,222
| 251,520
o 251,520
11T AL SXAIE E = 503,040 514,262 A11,222
O(ZUE)I00MAILH 2L 2| AL (=R
3) BUES 3,150,000& *151H 475,650
| 237,825
i 237,825
O(SUE)100MIAICH HHEALXI2IALY MOl
A(MRMSHIELE) 26,949,000& «14 26,949
9] 13,475
i 13,474
O(SUE )100MIAICH HEA L XEEIAL
441,0008 % 14! 441
| 220
i 221
Lot ESESEMEIA XIJAS 988,901 926,758 62,143
= 685,511
& 58,758
o 244,632
201 et Iy| 9,600 9,600 0
01 At 22|l 9,600 9,600 0
O=QI=X 2YAAS +Y
100,000 x8H x12& 9,600
307 SI2toI & 979,301 916,390 62,911
= 685,511
= 58,758
= 235,032
11T AL SXAIE E = 979,301 916,390 62,911
LolIdESSSAHIA 979,301,000& 14 979,301
= 685,511
= 58,758
i 235,032
AES=MHIA SAML B2SEX =2 91,800 91,800 0
= 27,540
i 64,260
307 QI2+0I A 91,800 91,800 0
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SN =X
Hm: col=x X
ool bR MESE (et @
- _ - &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
= 57,500
2 64,260
IEENNEEES 91,800 91,800 0
OYXBESNUIA BAN BEEX 49
150,00021 %51 122 91,800
= 27,540
2 64,260
ol SXAA X 6,886,214 5,780,106 1,106,108
2 137,379
= 1,517,313
2 5,231,522
COMBAL 2YN S 4,480,130 3,667, 147 812,983
= 1,379,721
2 3,100,409
301 YBBH I 4,480,130 3,667, 147 812,983
= 1,379,721
2 3,100,409
01 ABIEFE 2512 4,480,130 3,667, 147 812,983
OOt 22 20iHIE £Y3
6,882, 75021 %250 * 1 1,720,688
oA« o230itIg 23
10,683, 048! %250% * 11 2,670,762
= 1,335,381
2 1,335,331
OLMEASY SSAX NV
22,170,002 ¥4Z 1 88,680
= 44,340
2 44,340
Wt LoI=RAL 2 480,000 480,000 0
307 QI12H0I & 480,000 480,000 0
S EENEETEE=E=ES 480,000 480,000 0
O THIHe 01 X1 2 Al A 480,000, 00024 14! 480,000
Co=x 2y 730,201 620,042 110, 159
307 ©I12H0I & 694,201 620,042 74,159
05 BI2FRIEr 2 694,201 620,042 74,159
OYYRLO=TIR 2  105,844,00021+1HL 105, 844
OYYBLOI=XIZ Q12|
530,274,002 17§ 4 530,274
OYYPLO=XR T2 2
58,083,000+ 14! 58,083
402 RIRXH2 0| B 36,000 0 36,000
01 BIFRHZ AL 2 X (KM TH ) 36,000 0 36,000
OYYRLABND LSXY AKX
36,000,000% * 144 36,000
Lol MBI 2SN 138, 562 86,638 51,924
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SA

SXEH
M o=l =
el Lol 2XAE XA (el &3
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= 5,820,037
= 73,000
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301 Let2d3 5,398,000 5,634,900 A236,900
= 4,318,000
& 540,000
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01 M2 2EE 6= 45,000 44,800 200
OdatE M= 3,750,000 *12& 45,000
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= 73,000
= 18,250
Doy 42,000 42,000 0
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= 829
= 207
OFHUWLNEA (X4l 0I5H)
212,333 =124 & 2,548
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ORI 29 70,0003 +62!*43| 1,680
KA AAID| 2 Aet2dst X3 6,000 0 6,000
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s 66,633
101 214 H| 127,506 65,712 61,79
= 63,753
i 63,753
03 BRA(RIAHAY)2ENES 127,506 65,712 61,794
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